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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering - SEMESTER - I « EXAMINATION - SUMMER 2013

Subject Code: 3300009 Date: 04-06-2013
Subject Name: Applied Chemistry (Group-1)
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
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Answer any seven out of ten.

Write any two characteristics of covalent compounds.
Draw pH scale.

Explain Redox reaction with suitable example.
Define: Soft water and Hard water.

Define: Glass and Refractories.

What is Insulating Material and give its type.

Define: Catalyst and Auto catalyst.

Define Elastomer and give their type.

Write the name of salts producing permanent hardness of water.
Write the constituents of paints.

Explain formation of Hydrogen bond with suitable example.
OR

Explain formation of lonic bond with suitable example.

Explain condensation polymerization with suitable example.
OR

Explain addition polymerization with suitable example.

Write factors affecting degree of lonization and explain them.
OR

Explain importance of pH in various fields.

Calculate the pH of 0.01 M H,SO, solution (log2 = 0.3010).
OR

Calculate the pH of 0.001M NaOH solution.

Explain corrosion due to Galvanic cell reaction.

OR
Explain the factors affecting the rate of corrosion.
State the properties and uses of Buna-S rubber and Neoprene rubber.

OR
State the properties and uses of Phenol formaldehyde and Epoxy resin.
Write only chemical reactions involved in the lon exchange process for
softening of hard water.

OR
Write only chemical reactions involved in the Permutit process for softening
of hard water.
Following salts are dissolved in a sample of water. Calculate its total hardness
in French degree.
Ca(HCO3), = 16.2 mg/lit, CaCl, = 22.2 mg/lit, MgSO, = 6.0 mg/lit
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A sample of water on analysis gives the following results. Calculate
Temporary hardness, Permanent hardness and Total hardness.
Mg(HCO3); = 14.6 mg/lit Ca(HCOs3), = 16.2 mg/lit,

CaS0, = 27.2 mg/lit, Mg Cl, = 9.5 mg/lit.

Explain Vulcanization of Rubber.
OR
Distinguish between thermoplastics and thermosetting plastics.
State any four properties of Portland cement.
OR
State any four properties of Glass.
(1) Give the name and structure of monomer of following polymers
(@) Polypropylene (b) PVC (c) Polystyrene.
(2) Distinguish between Paint and Varnish.

Define Catalysis and give its type with suitable example.
Explain “Pitting Corrosion”.

Explain Classification of Refractories.

State properties and uses of glass wool and Thermocole.
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Mg(HCO3), = 14.6 mg/lit Ca(HCO3), = 16.2 mg/lit, CaSO, = 27.2 mg/lit,
MgCl, = 9.5 mg/lit.
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